1138 R 30 SERES 2 LEHPIE > EAP%P 23 4

+
~

% A

23 s =R

&»r‘gi

FER

WAL iRk p g

113472 13p (R ¥ >)

Pyt

R% 34

BEFLIRIS 9 P

&

1B4EL

2.7 2 R

G AR

- RERAA

e

LR R ea

L M- e iinmvpmantmad | F
® Y BEAR ) HEAES A ik

2. M- aRAAAKTHABL R [ FFEL I
R AT A §h§9854#ﬁﬂ

Ed

435‘7}42?' {g@ 73F 2 2 BT s 3T I N =
W@’w&%§4%mﬁﬁwﬁ%~ﬁﬁ%?€?%a
BEY -

L e

m%&%*ﬁd%%AJ@FA‘EW%Eiﬁ?%ﬁ
%Q@%ﬂ+§faﬁﬁ£&ﬁi%hjﬁﬁ%
hHREFABREE Y G piRe 7¢%hw
PG Y AN - TERFR mdwﬁ‘lﬁé? °

. HHEI T2 2 BEDA LY CFE R S
FIEIEE':EF\JFH )I_/ﬂ\ ¥ ] v
7 °
LT eWaAArAKTHRMAFERNY | £ FEY A
Fad EHR ) FEVARBIEF L k-
BB A M o
FHE o me g g (B BAAA
11,200 3 37) °
BRI T T HEB D pEEe e
FRHEME A FHEAHFEIERAET I E Y BB F R
B
i Rt
AR BEA L T AR EE S Y
FAEITH | BEEYRF ) A3 SiMATRA-EPE Y4
ﬁ&—hﬁﬁmaéﬂﬁo
L PHEIF T HRE HE  RiriE gL T
g | LT R EER e

YA




C B E RRHAMEEAS 1T

AL

e

R FREHEAP

gy
B

foo k%

EwA R
BEENE
L¥E2 Y

rE E¥nr%
il
Bc-1v-1 £ B8 - %
B~ TR P o AR -J-A2
PETESAS S REETY LHEYA B
RFE2 B #IRERP o Lygeug 4 o T E LR
Be-IV-3  #c ¥ ~ W7 1AL B* e A A5
N N ey -4 P
ﬁgégﬁdpa °
Bc-J-A2
£ 'F?a”p T2~ 350~ R
A2 iR A > TR @
RS T SRR
# & N-7-9 +t g1t & FiEY i o e KA
A1 Siah o LA BERRST|§FF RS
12 f% e e 1% ‘,?\-;lrﬁ“t' AR
*\’Fr'l}? ‘Lﬂ
"y #-J-Bl
BT s B
T VR
B P IR % o A Bl
%%@P’”&gﬁﬁi
A-T-1 A #HcP e WL G B A B A
—fr}“}’}ﬁ‘o CEVE SN
BaPs o /L E? 2
mkt’imﬁifi
ACIV4 WY FrE g
QIR s -
ﬁ\%&%hﬁﬂ%ﬂJBl B
F#)e W BEE hAHAZ
Ad-IV-1 B ® FFEE 1% > p ¥ 25F L8
v F e e P iR B R @
B-IV-4 B A ehg £-~A12 BlF T 74> &
. BEEIoR % ehdid o |FoEd BT B o R T LR
/isi EiE~Y B-IV-5 4 ~F ~ B $1Ee P
Bos gy R E P EE TR

DIV-L 3 & F it i*
&I IR -

D-IV-2 = & = 38 3 4
S AR R

e E o

D-IV-3 =t & %] % B 1%

Ak X

®-J-A2E B kAL IR
SfiF i 4 0 R
AWML G

EREE R B A N e
LR ST S

4 A e fg e

LRI N R
5 AL b

EENF T T

NP B PR
)’4’\ 4%% l‘\]'.: k]
FAp )

(_

ff__fﬂ?'?f r'}"ﬁ‘é'm&u»)i

E4

Y
W ?“:“n

\}\

®

&7
= )%

=

2N

‘_\

i FE 9
3 A
- (B)
&

CHRABAR A S

m&ﬁ_
HIFRALE N F 0 E B f B R o
R T ARG ARG AL
(AL £ Reht 5 % 4 Bkt %43 h
'IV)I:J =P (D)x 3 %,&'E’ﬁ&’ﬁ = i)




bt o deF o #1~9F - Bk
Pﬁﬁﬂm—ﬁ

49
F_‘-
b
|
g
B
|
a
W
IR
e
i}
T

P
417 813
3|7 219 4
411 9 2
5 4 319
2 8
917 5 2
7 2 516
4 817 3|2
5|2 1|3
£ %
215/916/4|7]1/8]3
6/3(718(1(2]9|5|4
814(113|9|5]6|7|2
118|512|6(4)7|3]|9
3/6(219/7(1]8(4]|5
9/7(415|8|3]2|1|6
711(314/219]5|6]8
419(8]7/5|613|2|1
512(611|3|8]4(9|7
v ®me g

MRl PER D604 48

(C)F ez R N F o E R Y iE o AT
AL b
(#*xfh)

(% #) May I help you?
(* #) Yes, I"d like to look at that red sweater. How much is it?
(9 #) It’s one thousand dollars.
Question: Where are the man and the woman?
(A) In arestaurant.
(B) In the living room.
(C) In a department store.
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Why don’t we have a(n) for our singing group? I think it looks great

when everybody in a group wears the same thing.
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http://oddest.nc.hcc.edu.tw/wusu29.htm
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# % ' Linda came up with a good solution to the problem.
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